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Mathematical

QUESTION 381

Common Test June 2019

Explanation

T/L

Mathematical Literacy P2 (Marking Guidelines) NSC Sl Common Test June 2019
3
QUESTION 2 [30 MARKS] Explanation T/L
L1 60 minutes = 1hour M
00 100 @
100 minutes = —5-v'"M 1M for dividing by 60
= 1,66666v'C 1C converting hours to minutes
991
S we vSF 1SF justification
= 594,62 km/hv A 1A correct answer
=~ 595 km/hv'R 1R rounding off
(5) |L3
%12 100 minutes = 100 X 60 secondsv'M 1M multiplying 100 by 60 M
= 6000 secondsv'C 1C conversion to seconds
Number of litres = 6 000 x 4Iv'M 1M multiplying 6000 by 4
=24 000lvCA 1CA consistent accuracy
4) |13
2.1.3 Fuel for 991 km = 991 x 12IvM 1M multiplying 991 by 12 M
=11892lvS 18 simplification
m Fuel for return flight = 2 x 11 892lvM 1M multiplying by 2
e) =23784vM 1M return flight fuel
O . _ 183380 1M dividing by 23 784
g Number of return flights = 237847 M 7,71vCA 1CA number of return flights
) Roberto's statement is not true. v] 1J verification (7 |14
229 distance on the map is 6,7 cmvA (accept 6,5 — 6,9) 1A distance on the map M
%) 2,8 cm=80km v'A 1A distance on bar scale
> 6,7 x 80 v\ 1M multiplying by 80 L3
L 28/M 1M dividing by 2,8
w =19143km vCA 1CA for distance
b OR
m OR
c distance on the map is 6,7 cmv'A (accept 6,5 — 6,9) 1A distance on the map
© [(Zar=t0mhes 1A distance on bar scale
= 67x80sy YA 1M multiplying by 80
N 2/M 1M dividing by 2
— =268 miles vCA 1CA for distance &)
w.wm It is not accurate, values are estimatedv' v'0 20 disadvantage 4
Byt (2)
2.3 176 cm = 1,76 mv'C 1C converting 176 cm to metres M
BM 91v'M 1M for 91 kg
© = G7eyvm 1M dividing the square of 1,76
O =29,38vA 1A correct answer
m The children were correctv'0 10 correct conclusion ) lua
N.ulg Physical exercise/Change of dietv' v'0 20 proper advice M
— 2) |14
W [30]
o
@opyright reserved Please turn over

8:160vM =1:20vS IM for the ratio 8 : 160 M
1S simplifying (1 : 20)
AO (1:20)
(2) L2
312 1M for dividing 44 by 20 M
length = width = |\Z 22emvA 1A correct length and width
Hom
height = —5- vM 1M for dividing 105 by 20
o m Nm cmvA 1A correct height
4) |L3
3.13 °C = (140°F — 32) + 1,8v'SF 1SF correct substitution M
=60vA 1A correct answer
@ |12
321 105,27% = 1,0527v'M 1M for 1,0527 F
2018 Price = Mﬁmﬂﬂo VSF 1SF correct substitution
= x_z 248,12V CA 1CA correct answer/accuracy
(3) |L3
322 5,38% of R14 999 = R806,95vM 1M for the increase of R806,95 F
2020 Price = R14 999 + R806,95v M 1M addition
= R15 805,95V CA 1CA correct answer/accuracy
3) |L2
323 5,50% of R15 805,95 = R869,33v'M 1M for the increase of R869,33 W F
2021 Price = R15 805,95 + R869,33v'M 1M addition
=R16 675,28vVA 1A for R16 675,28 C
Average increase from 2019 = R1 676,28v M IM for average increase %
Average Percentage Increase —
R1676,28 5 1SF correct substitution W
=Rizg99 * 100%v'SF 1CA correct answer/accuracy —
=11,18vCA 10 correct opinion o
The father is correctv' 0 (7L [ 14
P3|
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